( AEeER 118 )

SRAN 2-1 = H
SRAN 3-2  dex
SRR 1-1  /)H
SRR 5-1 7

4 51493 | TER!

Ol11/202BY -7 28 ¥vh—15
Sz 1-2  HEAE

O11/27 ANEH Yy h—15

<FEY—U>37z 0-2 BEFHR
IR 0-3 L
<TLYKU—>EBR 4-1 TI-TrrsE

7L FRU—EHTLT

011/28 7L > KU —C %4 B1SIL 35
<FEY—7U>7Z20-0REAR

011/20 M2EXRE Yy Hh—if
S zxlst 7-0 B
E#HAlst 10-0  HEEFEFE
S7z2nd 2-2 TSKE4A
011/27 NZEKRE SHERISILE
i zond 0-11 HY/NkRR
Istb—F A Y FA 2ndFEBOR

O11/23%EHE Fltka/NIG
EHMZA2-01-03-03-0 CHulA
&#ZB 0-02-10-00-0 CHLB

6 4 SEL 3FEE
O11/3£HY-72%B SEEG |Oll/6#EHE YV vhHh—iF |Ol1/3EAHv7 EHING
IRz 1-2 MHAE |Shx1-2/2-2/3-2F% |skhz 2-0 =l HH
IRz 0-3 TSKEAE IR 0-2 458
SR 0-11 Hr/NKfr |O11/13 NEEXRE BHEEISEE |74 X 4-0 a»/X==x @

E#Zlst 11-0 FEOLY2nd IR R 6-0 t#HHE
Ol11/7TEBA» v 7 BHEBEABG |X422nd 0-2 #HHAE ARSI THEEBBTLE

Ol1/20EHE HZANLE

4%

O11/13 anEH Yy h—i5
<lEl#>x7%zx 1-0 7EH
<ERPE>IHZ 0-6 KK
<3MATEH>THZ 0-3 HMEmM
4HIiTLT

O11/21 &% Z2Hhv 7 BELF

<FEY—-7>

AN S 3-0 e
AN E 2-3 LRI
<V N —IRRTE B>
IBR 0-6 SVHEKR
AMIAEBTLT
SESE
O11/3#%ZHE YvHh—i5
AN 6-1 HmEf
AN S 3-4 Z=¥B
YA d 3-2 MHETE

<IBfIE>27Z 4-0 FEA

IR 0-1 TSKE4E
SRR 0-5 E3]=2
<5 - 6 FELIRTH>
SHKZ 3-4 EmEAE
6fiiTL 7=

Bz 1-1 2-1 &HA
s#mz 1-3  £5B
Bz 3-1  t&o
2%
O11/13 a&H ¥y h—ig
SmR 0-3 FI-JrErE
%z 7-1 RFC
&mz 0-9 LM

1Bs28 3fTLZ

O11/27a,°%% tZEHMILS

IR 0-6 ZHDE
IR 0-4 =5
Xz 0-10 MEFE
AITLT-
14

O11/28 an~&EH Yy h—i5
<FEY—U>H4Z 0-0 XK

IR 0-6 WHT 2
EfIRESS X2 PK2(2 - 0)2 BEA
5fTL7




